CTET L1 English L2 Hindi P1

Topic:- CDP_P1_CTET

1) While biologically abilities such as walking can be gained through :

biologically abilities such as writing require

(1) primary; playful interaction with environment; secondary; explicit instruction
(2)
(3)

)

(4) secondary; eliminating explicit instruction; primary; explicit instruction

secondary; playful interaction with environment; primary; explicit instruction

primary; explicit instruction; secondary; self-driven practice
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[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_101_Q1]

1. 1 [Option ID = 1]

2. 2 [Option ID = 2]

3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which of the following statements is correct in the context of development ?

(1) Development is purely a result of heredity only.
(2) Course of development is from specific to general.
(3) Development happens from outward to centre.

(4) Development proceeds from head to toe.
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_101_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) Which of the following is primary socialisation agent/agency for children in primary grades ?

(1) Immediate family

(2) Cultural beliefs

(3) Religious organisation
(4) Print media
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[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_101_Q3]

1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4) In accordance with Jean Piaget's theory of Cognitive Development, at what stage can children

‘mentally do reverse thinking' ?
(1) Sensimotor

(2
(3
(4) Formal operational

Preoperational

Concrete operational

)
)
)
)
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(4) dra=TiE FiFaeas
[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_101_Q4]
1 [Option ID = 13]
2 [Option ID = 14]

3 [Option ID = 15]
4 [Option ID = 16]
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5) According to Jean Piaget, the process of continually fitting the experiences into our existing

schemas is called

(1) Assimilation

(2) Accommodation

3) Categorisation
)

(
(4) Conceptualisation
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_101_Q5]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) Which of the following theory gives significant consideration to discussions and debates in the
process of learning ?
(1
(2
(3
(4

B. F. Skinner's theory of Behaviourism

Lawrence Kohlberg's theory of moral development
Lev Vygotsky's Socio-cultural theory

Sigmund Freud's theory of Psychoanalysis
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[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_101_Q6]

s

3 [Option ID = 23]
. 4 [Option ID = 24]
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7) Seeing a student struggling with a question, her teacher decides to give cues and simplify the
language of the question. In Lev Vygotsky's theory, this is referred to as
(1) Imitation
(2) Conditioning
(3) Scaffolding
(4)

4) Assimilation
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[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_101_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) Lawrence Kohlberg used to evaluate the moral reasoning among children and adults.
(1) hypothetical situations
(2) paper-pen test
(3) drawings
(4) report cards
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_101_Q8]
1 [Option ID = 29]
2 [Option ID = 30]
3 [Option ID = 31]
. 4 [Option ID = 32]
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9) Advocates of constructivism give importance to

(1) Child-centred curriculum
(2) Culturally non-responsive pedagogy
(3) Overlooking the individual differences

(4) Convergent ways of thinking
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[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_101_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Intelligence Quotient (1Q) tests are criticised for

(1) being considerate of cultural diversity.
(2) conceptualising intelligence as a set of different abilities.
(3) ignoring the influence of environmental factors on test performance.

(4) considering social factors in measuring memory, reasoning and verbal skills.
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[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_101_Q10]
1 [Option ID = 37]
2 [Option ID = 38]
3 [Option ID = 39]
. 4 [Option ID = 40]

A wN =

11) Which of the following statements is correct in context of language and thought ?

(1) Jean Piaget suggested that language facilitates cognition.

(2) Lev Vygotsky suggested that language has no influence on thinking.
(3) Jean Piaget suggested that thinking depends on speech.

(4) Lev Vygotsky suggested that language enables tools for thinking.
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[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_101_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Gender is dominantly a/an construct.
(1) biclogical
(2) social
(3) medical

(4) arbitrary

SeT THT T 7 UH T 2

[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_101_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) Assertion (A) .

In order to cater to the needs of students belonging to diverse socio-economic backgrounds, a
teacher should adopt standardised curriculum.
Reason (R) :

Standardised curriculum takes care of all kinds of individual differences.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
3) (A) is true but (R) is false

4) Both (A) and (R) are false

e
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[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_101_Q13]

1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) Formative assessment is done
(1) at the end of session.
(2) through standardised tests only.
(3) thoughout the teaching-learning process.

(4) by a special educator only.
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[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_101_Q14]

1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Which of the following approach is likely to promote critical thinking among students ?
(1) Asking close-ended factual guestions
(2) Helping students develop hypothesis

(3) Encouraging convergent thinking
(4) Teaching using textbooks only
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[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_101_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) For successful inclusion of students belonging to Scheduled Tribe (ST), it is important to

(1) teach in the language preferred by the dominant group.
(2) ignore their cultural knowledge and experiences.
(3) provide educational materials developed in their local language.

(4) maintain social distance between school and their community.
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[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_101_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) Students with Dyslexia are likely to

(1) show eagerness to write long essays.
(2) have advanced vocabulary.
(3) comprehend text with much ease.

(4) be reluctant to read.
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[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_101_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]

3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Which of the following becomes a barrier for inclusion of students with visual impairment ?

(1) Audio taped notes

(2) Braille books

(3) Verbal descriptions of visual aids
(4) Written or printed materials
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[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_101_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Which of the following is directly associated with ‘Attention Deficit Hyperactivity Disorder’ ?

(1) High attention span

(2) Persistent impulsivity

(3) Low activity levels

(4) Extended patience to listen
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_101_Q19]
1. 1 [Option ID = 73]



2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) A key characteristic of ‘Giftedness’ is

(1) High levels of intellectual ability
(2) Lack of creativity
(3) Impaired communication skills

(4) Tendency to copy other's ideas
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[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_101_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Assertion (A) :

A teacher should present the contents to be taught in the form of connected and organised
manner.

Reason (R) :
Learning is a passive process.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_101_Q21]

1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) According to contemporary theories of cognition, memory is

(1) capable of construction but incapable of interpretation
(2) capable of construction as well as interpretation
(3) capable of interpretation but not capable of construction

(4) capable of neither construction nor of interpretation
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[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_101_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) In order to promote construction of knowledge by learners, a school should promote
pedagogies.
(1) child-centric
(2) exam-centric
3) teacher-centric
)

(
(4) textbook-centric
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[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_101_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Which of the following is nota part of universal design for learning guidelines ?
(1) Multiple means of engagement
(2) Multiple means of discrimination
(3) Multiple means of representation

(4) Multiple means of expression

feaferfea & & aftm Re-fEe 5 fon wim-ar st afiseer & e
T ?
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(2) F=HTH F TgAT TEH

(3) wraf=feea F agie arae
(4) wfsr=atcs F agfryg T30

[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_101_Q24]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) Which of the following promotes problem solving ?

(1) Analogical thinking
(2) Functional fixedness
(3) Response set

(4) Convergent thinking
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[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_101_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

3. 3 [Option ID =99]
4. 4 [Option ID = 100]

26) Assertion (A) .
Young children come to school with already developed ‘naive’ theories about their
surroundings.
Reason (R) :
Such understandings are purely irrational and should be ignored.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

ST (A) -

E=me T A & 9 G0 =31 § dU GAer B A9 a9 & Tge HEd Aies
AEEA

T (R) :
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(1) (A) 3% (R) I FT & 17 (R), (A) ¥ AET 20T F7a7 g

(2) (A) 3= (R) ZrT &1 € @i (R), (A) FT T =104 71§

(3) (A) FET g w6 (R) T4 g

(4) (A) &7 (R) 31 11T &
1[Q1L1¢[ecs)ti9n |I|; =1%)?]][Question Description = CTET_P1_PART_1_CDP_SET_101_Q26]
2. 2 [Option ID = 102]

3. 3 [Option ID = 103]
4. 4 [Option ID = 104]




27) Which of the following statement about emotions is not correct ?

(1) Emotions influence information processing skills.
(2) Emotional development gets influenced by environmental factors.
(3) Emotions and cognifion are completely independent of each other.

(4) Emotions influence motivation to learn.

ATAATEA F =A% F [Fertertad § 7 F1=-97 F47 T2l gl ¢ ?
(1) ATAATE FTIAT HT THAT F2F ATAT TAAT BT TATAT F2A7T @ |
(2) wAraTee FeehTe aieaefiT Tt & T91ET 2ar g |
(3) ATFATT &I HATT AT FTA-AT H TH-FHL T T4 3 |
(4) AT AR F o Afweo F aAarET FATE |
[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_101_Q27]
1 [Option ID = 105]
2 [Option ID = 106]

3 [Option ID = 107]
4 [Option ID = 108]

A W N -

28) Which of the following is notan example of intrinsic motivation ?

(1) Curiosity

(2) Interest

(3) Urge for clarity
(4) Striving for prize

TeATeTiad § & F-A7 Ardieh ATHT0 67 2240 qgie ?

(1) forstraT

(2) ==

(3) FeaT = T =nga

(4) TTERTE T o ST e
[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_101_Q28]
1 [Option ID = 109]
2 [Option ID = 110]

3 [Option ID = 111]
4 [Option ID = 112]

A wnN =

29) Learning is more effective if

(1) Content is related to real-life experiences.
(2) Material is too abstract and complex.
(3) Content is delivered in disconnected chunks.

(4) Previous knowledge is not activated.
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[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_101_Q29]
1 [Option ID = 113]
. 2 [Option ID = 114]

3 [Option ID = 115]
. 4 [Option ID = 116]

A wN =

30) To create a conducive learning environment, a teacher should

(1) foster collaboration among students

(2) have very low expectations from students
(3) avoid giving mastery-oriented feedback
(4) not give any autonomy to students

TF FAHA (AHIET) Hraa w5 AErE a9 & fow, vF f9reAw T war
1T ?

(1) =TT F 1= AgART FT G2E7 347 AT 0

(2) F=ITTE=T | 982 FH AUATT @A AT 0

(3) HETEd-37HE TTAIE 34 F T=4T AT T

(4) BEnfai 1 Frg =ra=aar G20 &4 A1
[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_101_Q30]

1 [Option ID = 117]
2 [Option ID = 118]

3 [Option ID = 119]
4 [Option ID = 120]

A W N -

Topic:- MATH_Q31-45_P1_CTET

1
Y A 168 m long rope is cut into equal pieces of length 85 m. How many such pieces of the rope

are obtained ?
(116
(2)17
(3)18
(4)19



168 maﬁﬁwmﬁﬁeé m TS F IET ZHel § HIET 97 | TH T a7
T o T e IToT 2T & 2

(1) 16
(2)17
(3)18
(4)19

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) Obtain (K + P) from the following addition :

5843103
+26K7P92

8521095
(1) 14
(2)15
(3)16
(4)17

e aEr (K + P) 9o ifer
5843103
+26K7P92

8521095
(1) 14
(2)15
(3) 16
(4)17

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) The average temperature of 6 days is 32°C. If the temperature on first 5 of these days (in °C)
was 31, 31.5, 32.5, 31 and 32, then the temperature (in °C) on the sixth day was :



o f391 &1 9T qro|Te 32°C g | 7= 299 & w99 5 341 =1 a7+ (°C #)
31, 31.5, 32.5, 31 &7 32 4T, A1 55 =39 &1 a9 (°C ) 97

(1) 32
(2) 33
(3)33.5
(4) 34

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q33]

1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) LCM and HCF of x and y are 4 times and 2 times respectively of the HCF of 42 and 120. If xis
36, then what is the value of y 7

(13

(2)6

(3)8

(4)12

X 17 y % LCM 97T HCF #FHeT: 42 31T 120 & HCF =T 4 I[°7T &< 2 371 2 | 7f=3
X T T 36 2, AT y &7 917 F4T g7 2

(1)3
(2)6
(3)8
(4)12

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) Which of the following has the smallest value ?

(1) 3670 + 800 + 20
(2) 3955 + 601 - 80
(3) 4500 — 128 + 40
(4) 4600 — 150 — 29



feaforfaa 9 7 s 9w aa T F7 ¢ ?

(1) 3670 + 800 + 20

(2) 3955 + 601 — 80

(3) 4500 — 128 + 40

(4) 4600 — 150 — 29
[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]

3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

®) Shweta cut a cake on her birthday. She gave half of the cake to her three friends, kept % of it

for her sister and the rest for herself. Later, two more friends came and she divided her partin
three equal pieces and they ate together.
How much part of the original cake could she eat ?

(m1

(4 1
12
9AT F AT SEH(IA T FF AT | THT ATET Foh ATAT A1 Fgrerdt i =,
TR S ST AR F o A a s o T | oA ¥ &, e @
wefort e @1 T @7 I qu B F T F AT avaw Be Fo e it A
e =T |
FE ¥ ik T T T =T ?

(1) 5
(2)+
(3) 5
(4) =

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]



1
7) 2—2— right-angles are equal to

(1) 240°
(2) 260°
(3) 225°
(4) 245°

1 = . -
2- THF AT § 7 &FaF aw=w g 2

(1) 240°
(2) 260°
(3) 225°
(4) 245°

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q37]

1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) Which of the geometrical shapes — Equilateral triangle; Parallelogram, Rhombus, Rectangle
and Square have two lines of symmetry ?

(1) Eguilateral triangle and Parallegoram
(2) Rhombus and Parallelogram

(3) Rectangle and Rhombus

(4) Square and Rectangle

SATTHA T A — AHATg s, T9ae SqHs, THAqEs, dad 7 a9, § 7
forer SrTeT it 37 AT YAt S E 2

(1) FrevaTg Frst m AT T

(2) TGS TAT HHTAY TGS

(3) APTT AT AHFTHS

(4) 7T F4T AT

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q38]
1 [Option ID = 149]
2 [Option ID = 150]
3 [Option ID = 151]
4 [Option ID = 152]

A wN =



9) Which of the following statements is/are true ?
(i) Through two given points many lines can pass.
(i) Through a given paint only one line can pass.
(i) Three collinear points cannot form a triangle.
(iv) Sum of two obtuse angles is always a reflex angle.
(1) Only (i) and (iv)
(2) Only (ii) and (iii)
(3) Only (iii) and (iv)
(4) Only (iii)

fReferfas 5 & #19-au8 99 991 212 ?

(i) =T g ST ST g5 @k AT g Al 3 |
(i) TR0 gu us &g ¥ S/ ST g8 Fad UF vdT gf 9%l g |
(i) e HET v v Brge 7 g A |

(iv) =T feF FT T A7 739 T giaadi 7 g g |

(1) FA (i) 3T (iv)

(2) 5= (ii) & (i)

(3) 5= (iii) &7 (iv)

(4) F=T (iii)
[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]

3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) A train started at 8:50 am. It covered a distance of 420 km with a speed of 70 km/h and a
distance of 120 km with a speed of 80 km/h. In between the journey, the train stopped at 3

stations for 5 minutes, 8 minutes and 12 minutes respectively. At what time did it reach its
destination ?



T YeRTeT o 8:50 am T FerT W AT | 39 420 km # T 70 km/h 74T
120 km #FT T 80 km/h T =1 97 #¥ | T80 | A TATET 3 T2 I FHFM:
5 fimz, 8 WAz 7 12 fame & foro =4 | ag Tewmet e 99T 97 &9 Ta=T

T 97 9l ?

(1)4:05 pm
(2)4:45 pm
(3)4:50 pm
(4) 5:45 pm

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) Which of the following statements is correct ?

(1) 2 litres is less than 205 mL
(2) 1.69 mis equal to 1690 cm
(3) 6.25 litres is more than 6 litres 25 mL
(4)9 kg 75 gisequalto 975 g

| R s e B B B 70 B -

()2dA=zFa 2205 mL &

(2) 1.69 m F771&7 2 1690 cm

(3) 6.25 wer SATaF 6 AET 25 mL &
(4)9kg 75 gT@TZ 9759 *

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) The distance between two cities on 2 map is 19.2 cm. If 0.5 cm on the map is equal to 3 km on
the ground, then what is the distance (in m) between the two cities ?

(1)115.2
(2) 1152
(3) 11520
(4) 115200



A= 9% 37 871 & 6= it T 19.2 cm g | If% === 9T 0.5 cm 94 3
km F FTET g, AT 1 A2 % 419 31 371 (m F) et gnft 2

(1)115.2

(2) 1152

(3) 11520

(4) 115200

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) What comes next is the following pattern ?
121,2Y4,3X9,4W 16,
(1)5U 25
(2)5V 25
(3)6 V25
(4)6 U 36

reaforfae f=a § s == o 2
121,2Y4,3X9,4W 16,
(1)5U 25

(2)5V 25

(3)6V 25

(4)6 U 36

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



14) Aditya spends his time during a day as shown below :

Sleep 7 hours
School 6 hours
Play 2 hours
Watching TV 2 hours
Others 7 hours

If this data is shown in a pie chart, what will be the difference in the central angles related to
sleep and play ?

AT e U T3 % &8 i (e e /AT ar g

AT 7 5¢
A 6 He
AT 29¢
TV 34T 2 9¢
T 79

af% o9 AfHST FT 912 F12 U7 (@7 F0, a7 909 HT ot 7 Graieed Feaid
FAOT H Heq FAT g 2
(1) 60°
(2) 75°
(3) 80°
(4) 90°
[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



15) The temperatures of five cities on a day at 2 am and 2 pm are given below :

City Temperature at Temperature at
2am (in °C) 2 pm (in °C)
Chennai 214 36.3
Delhi 18.9 28.5
Kolkata 12 281
Mumbai 15.2 38
Srinagar 2.3 12
Which city shows the least rise in temperature ?
(1) Chennai
(2) Delhi
(3) Mumbai
(4) Srinagar

TT IEL & el T2 o 2 am 99T 2 pm 9% 1991 A= Ruam g

LAl 2am T TraHT | 2 pm T TT9E1T
(°C ) (°CH)
I e 214 36.3
G 18.9 28.5
FIARTAT 12 28.1
T 15.2 38
CIREIRS 2.3 12
o o= & AT ¥ AAaa Jis ge g 2
(1) 5%
(2) e
(3) =%
(4) e

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET



1) Mathematical communication in a classroom can be enhanced by

(1) reading the chapter given in the mathematics textbook before solving questions.
(2) making children learn definition of important concepts.
(3) giving opportunities to children to express their mathematical ideas.

(4) learning about life history of different mathematicians.

T HAr T AT H = ZTET FSTAT S HHAT 2 |

(1) THET T FTA T qgel A0 i ISTET § & T0 975 F uga
(2) F=AT FT AT FTATEOTAT T THFT9T g

(3) T=AT T I 0T (7 TA=T0 Fr ATH=T3F T T3 & AT T Foel
(4) Fafere witastt & sftaw sfagm ¥ afems

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) Identify the proper mathematical symbol for “If P then Q".
MmP=Q
2)P=Q
Q=P
4)PeQ

“IfR P A1 Q" & T0 AE/30g M| g =g Fit 7g=19 Fii |

(MMP=Q

(2)P=Q

(3Q=>P

4)P<=Q
[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q47]
1 [Option ID = 185]
2 [Option ID = 186]

3 [Option ID = 187]
4 [Option ID = 188]

A wN =

3) According to National Curriculum Framework, 2005, which of the following mathematical skills
are notfinvolved in visual learning ?
(1) Data handling
(2) Representation
(3) Visualization
(4) Deductive Reasoning



TTET 3= ®94ET, 2005 & dqare, Mg 3 & F9-a71 T e
97 ATATH | ArATeT ag@is ?

(1) AFET FT Tgeaq
(2) R

(3) Zeaft=ToT

(4) AT A=

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q48]
1 [Option ID = 189]
2 [Option ID = 190]
. 3 [Option ID = 191]
. 4 [Option ID = 192]

A wWw N =

4) It is found that many children living in traditional occupational settings like market places,
trading zones, etc are able to do mental calculations very easily.
These skills

(1) are not suitable for formal school mathematics.

(2)can be discussed in class by teachers for introducing various strategies adopted by
different cultures in solving problems.

(3) cannot be used for the purpose of assessing a child's level of cognition.

(4) are too ambiguous and can only be learnt by children living in such settings.

SRl U Tgd g A HIATH qieheld agd dTEHT § F7 @d g |
T 9T

(1) sl Fget Tior % o g 7 € |

(2) T | =1 %7 v g wha g e g e it e aepta
ST ATATE T THEAT THTLT F2 Hf FIAATATTAAET] Teqd F7 TH 2 |

(3) T= F HATTHT T F ATHeAT & 3297 H TN H Tl 10 ST The] |

(4) TgT AT 214 & X T FF J21 =4 A T g S ZH THIC 6 A0
HTga g |

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q49]

1 [Option ID = 193]

2 [Option ID = 194]

. 3 [Option ID = 195]
. 4 [Option ID = 196]

A W N -



5) According to National Curriculum Framework, 2005 must be given least importance in
mathematics at primary level.

(1) Logical reasoning

(2) Precision

(3) Problem-solving

(4) Visualization
T A=A Faar, 2005 F @A Tl TS w7 7 e F
A9 FH Hgadl 241 ATig0 |

S GUEEREEEE
(2) FEFT

(3) THHT-THTETH
(4) gef=maor

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

6) Which of the following statements is least related to Mathematical Modelling ?

(1) An application of mathematics to solve problems in everyday life.

(2) Making assumptions and approximations to simplify a problem.

(3) ldentifying important quantities and using tools or representations to find their
relationships.

(4) Using concrete models as teaching-learning material in mathematics classroom.

(B M T e 70 B 0 o 2 O et e ) B B G e e 1 2 o =

(1) 39 Sftae ¥ STl & THTET & for T T ITTT FHiTAT |

(2) FHEAT 5 FTATHLI F {0 AH T AT T2 707 FIAT |

(3) FETAITT ATATAT T TgATH FIAT TAT I HAAT H1 AT F2d o (70 ATEA]
o7 TR=07 &7 ITART F7A47 |

(4) TTOTe ¥ FET T AT FTa=ar AT RTAM-ATENTH AR F B § ITAN F7AT
|

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q51]
1 [Option ID = 201]
2 [Option ID = 202]
3 [Option ID = 203]
. 4 [Option ID = 204]

A wN =



7) Which of the following is the most appropriate way to explain the meaning of top number and
the bottom number in a fraction to fourth grade students ?

(1) Telling them that top number is the numerator and bottom number is the denominator.

(2) Using fraction models like circular pies, rectangular strips and appropriately shading the
parts to show numerator and denominator and helping students to arrive at the definition.

(3) After defining the numerator and denominator, asking the students to identify numerator
and denominator in various pictures.

(4) By defining that the bottom number is the total number of parts in which a shape/an object
is cut and the top number represents the parts selected out of the total number of parts.

FT-IV F fF=nfdat v f9= 3§ 397 3wt #@er & 9 Jren 91 5T a9
HHEATT 2 Fefarad § § FE-A7 90 G408 ST grT ?

(1) 372 T2 99T 3 397 ATt |1 H9T ZrAt g a97 7= A1 | J47 g2 2l g
|

(2) T = wio=T 99 AR TR, AFATHIT ST & Si9d (ord &l graiiad
T, F9T dT g7 AT WEfAT w7, Bt v earartEw =7 F S=ad; afvamr
THAT H qEF FAT |

(3) #er T FT T AICATT F7A % gt AfS= swptaat 7 FH=wia w5 o
3T g7 HT TgATEA & (017 FgeT |

(4) =g wfrafug F7 6 g1 5w ffe Pl el /ag ¥ & o m € &g
= ATet Hedr g 47 foae B9 g9 9 =53@ihg &0 a0 g ag wuT ary
HEAT 3 |

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q52]
1 [Option ID = 205]
2 [Option ID = 206]
3 [Option ID = 207]
4 [Option ID = 208]

AN wnN -

8) Which of the following is most appropriate to introduce the concept of ‘measurement’ to
primary grade learners ?
(1) Plan activities that are based on accurate and precise measurement.
(2
(3
(4) Give various cut-outs of shapes to children and ask them to measure their sides using a
scale.

Give the definition of different units of measurement.

Plan activities that involve measuring real-life objects using non-standard techniques.

)
)
)
)



grats w7 F foremiaan v wmoe v sEamoon 7 oftEs wwm F o
Feaforfaa § & F9-97 aarias ST 2 2
(1) TF ATy AT IS ST TRE UF T4 719 T7 AT 2 |
(2) 1= it A= garzat fit ghrarm e |
(3) TE ToRATheTT &TIror AT (S8 AWTTF TFAinal 1 SOAE
ATEA -5 (A T FELAT FT AT T 7 76 |
(4) F==1 &t srgfaa % AT gwe TR T T (B6e) F1 STIET F7 Irg
T TSI ATO T FH2 |
[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q53]
2. 2 [opion b 210

3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

9) Which of the following holds true for remedial teaching in mathematics ?

(1) It helps to identify gifted children in a mathematics class.
(2) It helps children to excel in competitive exams.
(3) It is beneficial only for children with special needs.

(4) ltis done to overcome difficulties in learning mathematics.

et & & Fm-a7 70 F IT=TET {907 6 F=9g 7 751 2 2

(1) =g T =7 FeAT § GTAATATAT == 1 TZATAT H AZMAAT FLAT G |

(2) Tg T=aT FT TTAARMTHT THATH § It T290T F F AgTAar a1 ¢ |
(3) TE FA TH9T ATFOTFATAT AT T=A1 & fer1] &f ATAITF 7 |

(4) =g TTOT ATATH | AT FTAT FISTIZAT T T HTA = 0 SHar s g |

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) Which one of the following is the most appropriate and important feature of a mathematics
textbook at Primary level ?
(1) It should contain more problems for the students to practice.
(2)

(3) It should focus more on the theoretical concepts.

(4) It should focus more on contextual examples and activities while introducing mathematical

It should be colourful and designed in an attractive way.

concepts.



TTATHE ¥ 9T A0 A IS Ea® w7, MEtiag ¥ 7 RI9-A7 TF Gaiiad
I TH HEeAL T g ?

(1) =7 TF=nta=t % aeary g Afes® 99 e =1ie |

(2) 7g -l o s = | afetors St =3l |

(3) T FZTvaF ATLTIIMSAT TT HTAF Flexd gl AR |

(4) T SEaTOTSAl FT AT AT ¥ ARG qg HIHIHE IR0 UF

TamaTal 9T #TAw Hiexa grAT AT |

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q55]

. 1 [Option ID = 217]

. 2 [Option ID = 218]

1
2
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

11) Student's performance in a mathematics class is not evaluated in terms of
(1) Problem-Solving Ability
(2) Rote Memorizing Ability
(3) Legical Thinking Ability
(4) Visualisation Ability

afore =t e | FeeT fE=refT = fAoaree i oAt e a7 e agic ?

(1) FRET-HHTETT ST
(2) FEET/TET T A=At
(3) At o awar
(4) F9AT=F=oT GAHaT

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) Which of the following can be considered as a higher aim of mathematics education at
elementary level according to National Curriculum Framework, 2005 ?

(1) To develop numeracy skills in children
(2

)

) To make children experts in calculations

3) To develop clarity of thought and logico mathematical thinking
)

(
(4) To build skills for competitive exams in future



T qT5A=41 ®94ET, 2005 F Aqa™ IR0 @7 7 HaftEd 3 F Sa-a1
Ieed Tiora T forer 29 o= SEeT AT AT g ?

(1) F==T F HATHE FI9T FT (SR HIAT

(2) T=AT HT TIFHAT FAAT H T FIAT

(3) A=Y T BATEAT TAT THYOT AT = 7 EHe FeaAT

(4) aTaT | TIATTTeas qEreATs g I HT (FH0 F7AT

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q57]
1 [Option ID = 225]
2 [Option ID = 226]
. 3 [Option ID = 227]
4 [Option ID = 228]

A W N -

13) More than 50% students of a class did not learn a topic in mathematics. Which of the following
is not an appropriate strategy to help these children in learning the topic ?

(1) Repeating the topic with different examples

(2) Engaging the children in group tasks related to the topic

3) Asking the children to solve a large number of similar problems related to the topic
)

(
(4) Creating cooperative learning situations involving the children who have already leamnt the
topic

FAT % 50% A=ty 7 afvm o v g 787 aw=r | Wetotag § 7 19T,
oo & afemry | =31 it agEan wed fit ITE Afa/AaaiT agie ?
(1) For=-frr SIrEeomt & Ay fAwT =1 Srgamn
(2) T et ATHEE AT § T=A1 A AT FEAT
(3) F==T F1 ATeF F7=a1 § AT Faeft THW THE HT THEATA FT A F9A F
(4) 37 F==1 #1 Sregiv uger 7 gr 7g fHua gy foray g, afeafera s7% aganir
e o afa it =7 #3997

[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q58]

1. 1 [Option ID = 229]

2. 2 [Option ID = 230]

3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) According to National Curriculum Framework, 2005, which among the following is an activity
based on ‘constructivist’ classroom ?

(1) Teacher salves problem on the blackboard and students copy it.
(2) Teacher observes the group activity and facilitates the students for problem solving.

(3) Teacher asks the students to write important formulae on a chart paper and read them
daily.

(4) Teacher provides lots of homework to the students regularly.



TTET 3= ®94ET, 2005 F dqare, Fetoag § 7 F9-97 G s
THATHT AT T AT g ?

(1) TOVersF 9ATHOIZ 9% 999 T F2d ¢ &L T== S0 7% Fed g |

(2) fevers w9 H 0 A0 FATHATT FT T Fd 2 A FEtiat i g9

g LA H FIAHAT I FIA 2
(3) foreqss F==1 1 A=A TF UF A2 997 97 forgse afafas <0 9w & o
FEAE |

(4) Fovers A=t &t fafaa =7 & 9g9 97 & 985 574 ¢ |

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

15) Which of the following is not related to developing the concept of a circle among primary grade
learners ?

(1) Identifying circular objects from the surroundings
(2
(3
(

4) Tracing circles using some circular objects

Drawing circles using a rope and a stick in sand

)
)
) Showing a model of globe in the class

)

feAferiaT § 7 Fa-A1 atis =7 F qEswaia § g9 T J3g9qwn
fe=rre 7 Hetae qgf g 2

(1) A7 TS F FHTRTE TEGAT BT TEATAAT
(2) ¥ T TEET A LT H TN H AT HLAT
(3) FHAT H 716 FT a9 g™

(4) T3 TATHE AqAT 5 STANT ZIET A1 AT AGL@T FLAT

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_101_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET

1) Fermentation is conversion of

(1) Sugar into alcohol
(2) Yeast into alcohol
(3) Sugar into CO»
(4) Yeast into CO,



(1) @31 FT UeATgier § F2a i

(2) == (fiv=) Fit Towrgiar § w2 £

(3) 97T FT CO, (FTE STZATFATES) H aga il

(4) T (A=) FT CO2 ( FTelA STFHAFATEE) F AT il

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_101_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) Your house is located at X and the bookshop is located at Y. Although the market is just
opposite but you cannot go straight because of the busy highway having barriers in between.
So you first go 100 m due North, then cross a 50 m long Zebra Crossing which is due West
and finally reach the bookshop at Y which is 150 m due South. With respect to the bookshop at
Y, the direction of your house at X is
(1) North-East
(2) North-West
(3) South-East
(4) South-West

TRt BT X 0T R g ot T Y 9T R g 1 T A 'Y arene F
ATHA g, F1F H = TS0, N 97 T0gE @9 8, % FI AT S A8l o e
2 | AT 9 A I9T F 100 m WA 2, T 21% 9f9=9 | 50 m o= FAT AT
U1 F7d 8 AT A= § 30 I H 150 m T 97 56 Y 97 e JHe1T ag=q
T | Y TT THIANT K AT X TT ATk 7T Ay fFaw g

(1) S9e-23

(2) ST-afe=H
(3) =fEor-am
(4) =feorafe=s

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_101_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3) Freeplay is where children
(1) can do outdoor or indoor activities
(2) follow the rules of the play

(3) play gender-specific games as suggested by adults

(4) organise specific activities



TA=GE T 2l © Sgl a4
(EIFERCIR I GERERIER IR R I
(2) == & H7dT =7 9T Fd 2

(4) fafares GramsarT st F7a 2

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_101_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) Sprouting in seeds can take place in the absence of
(1) Sunlight
(2) Air
(3) Moisture

(4) Moderate temperature

TSIt =T SApor Peeht soteta 5 grasar g ?
(1) =T =T THTT

(2) =g
(3)
(4) wemw =TT

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_101_Q64]
1 [Option ID = 253]
2 [Option ID = 254]
. 3 [Option ID = 255]
4 [Option ID = 256]

A W N -

> A person boarded an express train on 5" September, 2022 at Bhiwandi Road Railway Station
for Nagercoil. The train departed at 21:15 hours from Bhiwandi Road and reached Nagercoil at
04:45 hours on 7" September, 2022. If the distance covered by the train is 1877 kilometres, the

average speed of the train is

(1)60-5 km/h
(2) 59:9 km/h
(3)59'5 km/h
(4) 59:0 km/h



T2 =1t 5 e, 2022 1 WFEd 5 F fov f54Es 92 Wy a9 uw
UF THATH 2A § TATE AT | I 2 21:15 o T9=ET T2 | =1 997 7 fFaw=w,
2022 T 04:45 T ANTHIA Tl | A(2 T8 THT AT § 2 ZWT FaAT 74T
T 1877 Bl &, 71 39 # e T 2

(1) 60-5 km/h
(2) 59-9 km/h
(3) 59-5 km/h
(4) 59-0 km/h
[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_101_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]

3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) Pasteurized milk is heated to about then suddenly chilled & stored.

(1) 100°C for 15 minutes

(2) 100°C for 3 minutes

(3) 70°C for 5 minutes

(4) 70°C for 15 to 30 seconds

TR 9 T AT a% T8 T sar g, T s=s gt ferwes
deTeur AT STaT |

(1) 15 fa= & o 100° &,

(2) 3 = % o 100° 4.

(3)5 M= F Frm 70° 7.

(4) 15 & 30 F=ve ¥ form 70° &,

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_101_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]

3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7) Based on the physical charateristics, Pumpkin plant can be classified as a
(1) Climber
(2) Shrub

(3) Creeper
(4) Herb



ATTeren TASToraTed = e 9% Fgg » re = s 73iird fhar s asar g 2

(1) SAIET 7T
(2) =TT
(3) fAmrdt @ar

(4) 9T

[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_101_Q67]
1 [Option ID = 265]
2 [Option ID = 266]
3 [Option ID = 267]
. 4 [Option ID = 268]

A w N =

8) Reading by touching and feeling with fingers is used by people who are unable to

(1) hear
(2) talk
(3) touch
(4)see

ST 7 77 ¥ U AT Feeh T@ =l (30T T THET I AT ST 3647 F1a7

T
(1) T &1 7
(2) 91T TRl HHA
(3) F A=l TFd
(4) 5 7L T
[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_101_Q68]
1 [Option ID = 269]
2 [Option ID = 270]

. 3 [Option ID = 271]
4 [Option ID = 272]

A W N -

9) The process of cooling due to evaporation is slow when the area of the water surface in

contact with the atmosphere

(1) increases and the atmospheric temperature is high.

(2) increases and the atmospheric temperature is low.
(3) decreases and the atmospheric temperature is high.
(4)

4) decreases and the atmospheric temperature is low.



ATCq F HTL0T et =T Teem 99 6T SE1 g 5 aHed § 59 6 A 55
T SAFA

(1) F=AT g AT AATSH T 77T 3=7 21AT1 2 |
(2) F2aT g & ArETEH o ary e g |
() ==AT 2 EiT ATGHUEA T 917 39 2T 2 |

(4) F2AT g & argEve a1 A= grav g |

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_101_Q69]
1 [Option ID = 273]
2 [Option ID = 274]
3 [Option ID = 275]
. 4 [Option ID = 276]

A W N -

10) The lively dance form of Bundelkhand region is
(1) Swang
(2) Matki
(3) Bhagoria
(4) Lavani

F3AETE 5 FT AT oA AAT 8
(1) =

(2) T=ht

(3) wrrfAT

(4) =T

[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_101_Q70]

1. 1 [Option ID = 277]

2. 2 [Option ID = 278]

3. 3 [Option ID = 279]

4. 4 [Option ID = 280]

11) In case of plants, identify the correct option.
A. Plants prevent soil erosion.
B. Dead and dried leaves are used to make fertilizers and pesticides.
C. Animals provide shelter for plants.

D. Plants provide us seeds some of which can be eaten.

(1)Aand B
(2)BandC
(3)CandD
(4)AandD



UTE % HEY §, AT Ao i ug=m Hie |

A, T STEOT FT A B

B. 97 TF T 9f At SAH UF Fledre® aqi & (o 94ET gl g |
C. T, TTET T AP T2 F3d 2 |

D. uter g4 =i 9= F7d g SH | T8 @10 ST 70 g |

(1) AT9T B
(2)BFaTC
(3)CFATD
(4) ATATD

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_101_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) Parts of plants and their roles are mentioned below. The most appropriate statement is

(1) Roots connect the plant to the leaves.
(2) Fruits help in pollination.
(3) Flowers are the reproductive parts of the plant.

(4) Leaves support the upper part of the plant.

UTE % AT AT I FIA1 (L) T A= FqET TAT 2 | A SOgad BT
g
(1) STE dTdT =7 91 7 AT g |
(2) T TR F AT F4A ¢ |
(3) T 9TE & TS AT 2 2
(4) T OYE T HALT AT Al T 2 2 |
[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_101_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]

3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Select from the following a pair of Union Territories of India :
(1) Mizoram and Lakshdweep
(2) Jharkhand and Chhattisgarh
(3) Ladakh and Puducherry

(4) Jammu and Kashmir and Nagaland



feaforfaa & & areg F |9 eiog g3 1 e AT
(1) r=T=e & @eqgiy

(2) ATETT AT FAENE

(3) =T & gEa

(4) 5T &= FHedTT AT AWTATe

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_101_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) In a cultural festival, Shruti wore a traditional saree/dress of Maharashtra known as

(1) Banarasi
(2) Nauvari
(3) Kalamkari
(4) Jamdani

TF JiERas IHd T, gfa T HgEE i UF eI AT /AT TgAr At
ST 719 2
(1) FATZHY
(2) AT
(3) FerHEHTT
(4) STHETHT
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_101_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15) As per ‘The Prohibition of Child Marriage Act, 2006’ minimum age for marriage in India is

(1) 18 years for boys and 18 years for girls
(2) 18 years for girls and 21 years for boys
(3) 21 years for boys and 21 years for girls
(4) 21 years for girls and 25 years for boys

‘Frar-fAarg Aoy afaf=gag, 2006' F aq97 9wd § Fag fi gAag @y g
(1) @1 & T 18 a7 Fov et & oo 18 a7
(2) Tt o forT 18 T J47T @Eehi & forg 21 T
(3) @E=T & forw 21 a7 Fo7 el & forw 21 79
(4) wETaaTt % T 21 9 97 @851 & (o 25 a9



[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_101_Q75]
1 [Option ID = 297]
2 [Option ID = 298]
3 [Option ID = 299]
4 [Option ID = 300]

A W N -

Topic:- EVS_Q76-90_P1_CTET

1) Madhu studying in class 1l identifies Rose and Tulsi plants planted at his home. Which of the
following processes are involved in the identification of plants ?

A. Observation

B. Comparison

C. Prediction

D. Decision-making
(1)AandB
(2)Band C
(3)CandD
(4)Dand A

FAT-1ll § TBT ATAT Hg AT FT F T I[ATT AT AT F I F TZATAT 2 |
aret 1 vgA § FeterEa § 7 wa-8 gt o 2 2

A. AT

B. g

C. #gq

D. famfae

(1)ATB
(2)B&#TC
(3)C D
(4) D 3T A

[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_101_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) In the teaching-learning of EVS, objective of conducting Nature Walk is

(1) to highlight flora and fauna and develop emotional bonding with nature
(2) to conduct a virtual tour of nature
(3) to walk in a park and ensure fitness of learners

(4) to engage learners in gardening and develop a kitchen garden



AT AL 5 Frerr-ataT § i A 4 H=rierd FA W IFeA g

(1) FFEata S9Ta U wriorsTg 97 @O "9 397 {7 IHa F AT qrEa e
HFE FT THAH FHLAT

(2) BT T T ATHTHT AT FHEAT

(3) U= T F HT AT Y et Fi aegeedr gt ST

(4) =TT &7 aRTETT § =05 TEAT AT UF e a9 (At T

[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_101_Q77]
1 [Option ID = 305]
2 [Option ID = 306]
3 [Option ID = 307]
4 [Option ID = 308]

A W N =

3) Rezi says that she can not become a truck driver like her father. She has to look after
household and children like her mother. Which of the following method will be most useful to

address this gender related concept in class ?

(1) Group Discussion
(2) Movie demonstration
(3) Role play

(4) Play

ST wgdr g % ag aue AT it avg =% greaT 750 99 TFAr | 9 A= "/ Hi
Vg TLATT AT g AT T==1 %l TaAT Foe 1 ¢ | etertas § F Bt
3T, e & Siew 99T, =0 TFATIOT TN AFMAT FO g AAAEw STANT T

?

(1) ¥ ==
(2) FATHT y=9T

(3) =T g
(4) &

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_101_Q78]
1 [Option ID = 309]
2 [Option ID = 310]
3 [Option ID = 311]
. 4 [Option ID = 312]

A wWN =

4) While teaching EVS to primary school children you happen to come across certain children

who live in single-parent families. What would be your response to such a situation ?
(1
(2
(3
(4

Ignore these children and focus on the theme ‘family and relationships’.
Sympathise with these children and ask them to explain the term ‘family’.
Highlight difficulties faced by children in such families and focus on the topic.

" o e e

Incorporate the context of such children and build a culture of empathy.



sTafiE FEneT F =41 1 AT AEAAT F AT FId g, @I arar

T T=4 UHel ATTATTF TATT H T2d 2 | g7 Tieqid § Areht 2 giafaar

gt ?

(1) =7 F==1 &1 AFgeaqT F+ A< Fuy afv=re 6@ {94t 07 e Himg 72

(2) = F=41 7 AT 32010 AT g AVAT T AFAW & o0 Fg |

(3) T GiATl § F==1 gIa1 AHAT i T8 Fsareal 77 f=aw g7 F @7 fAwy
TY AT hiwd 7 |

(4) Tt ==t v e ARl W ol Tl 6 oF dephy w i A

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_101_Q79]

1. 1 [Option ID = 313]

2. 2 [Option ID = 314]

3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

5) Rupal, a class V student, tells her teacher that when her younger sister cries, her grandmother
says to her to stop crying otherwise an old man sitting on the moon will take her away. What

will you do if you are Rupal's teacher ?

(1) Talk to Rupal's grandmother and forbid her from saying so.

(2) Talk to Rupal and explain that her grandmother is lying.

(3) Explain to Rupal about the moon and show that no such old man is there.
(

4) Ask Rupal to collect information and verify this fact.

=TT, FT V A FET 8, 7 A0 Orerw Fr aardr £ 5 e g g aga o
& A1 2Tt e et @ B I QY o A AT, = AT @7 ATa R A A
T2 T =0 6 f90e0h g, 1 AT FATFGT ?

(1) =T 1 IR0 T TG F4h Ivg UAT Fged o AT H |

(2) = & T Fileh HATU {5 FET S5 Fig B¢ |

(3) T T F(T F AL H FATOA T THT FT€ IG7T T2 7l ¢ |

(4) =T T T 3 T THAT FT AhoAT FL TH T AT AT FL |

[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_101_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) In class-l, as a teacher, you are expected to familiarise learners with the ‘'senses’. You will

1) ask learners to read about the topic and come prepared for the class.

(

(2) ask learners to write about senses in their own words.

(3) use concrete material to depict the function of each sense.
(

4) use role-play to transact the function of each sense.



FAT-| 7, ToreaeF & =7 § aod d9ew g B arg @ty # aeteal § 9h=g

FIATT | AT

(1) FE=rTta=t =1 BT F 929 9 9g7 % o0 offT 99197 % 91 F47 § 99 & oo
Fg |

(2) A=t 1 3 SO oAl | AT oAl & Aug |/ o & T w2 |

(3) Te= HARAT F HA == F29 F o0 91 9= FT STIRT H |

(4) TTea HASAT T HTH TEAT R Fd & (o0 GraFT-Teagd 1 U7 0 |

[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_101_Q81]

. 1 [Option ID = 321]

. 2 [Option ID = 322]

1
2

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

7) Which of the following statements is the most suitable explanation of the nature of EVS ?

(1) Adjustment between human behaviour & ecosystem
(2) Education from primary to secondary education
(3) A life-long continuous learning process about environment

(4) Understanding and information about environment

Ao & 7 F-97 F99 TE00 FEA9T 5 THid Tl T 9o s4TET1
g ?
(1) FT9F SHAZTT AT T TaehT a5 F qTHs
(2) FTarfHE # oo ATeATH (OraT a5 i 19reT
(3) TATEZT & AL F TAT L@ ATl AT TToT
(4) TATLOT F T T THT AT ATTHRTT
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_101_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) In class Il, as an EVS teacher you have to transact ‘Transport’ topic in theme travel to the
students, thus you will
(1) ask students to read about it and make notes.
(2) show them a computer presentation on importance of transport.
(3)
(4) Read newspaper articles to decipher uses of transport.

use information and communication tools and draw conclusions from their experiences.



FeAT || F, U gataeor gemay e F =7 #, arowr FEEnfdat v = ofe T

(1) FEEnfa= #v zos = § 92 &l qieg a9 & O g
(2) af¥agd F Hg=a U7 Irg, U FFET Toqd (00T [2Ero |
(3) FHAT A TEITIT ATLAT T STANT FH397 AT IAF AT F w7 e |
(4) Tfaed F START F1 o4 e & o am=-T=1 o 92 |
[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_101_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

9) Which of the following statements best exhibits the nature of EVS ?

(1) EVS is not a separate subject in itself.
(2) EVS is preparation of (Science and Social Science) subjects of upper primary classes.
(3) EVS is awareness and sensitivity about environment and environmental problems.

(4) EVS is the efficiency of removing environmental problems.

THTAIT LT T THA 1 (Ao d § 7 F:19 97 799 Ja9A 9 96T 7 716
FLATE ?
(1) TATEE FETTT FIT AT H F (2 AT (20T TGl & |
(2) THTEET AT $= AT FAT @97 (Fs 3 amiem &) i
= AT 2 |
(3) THTATIT FETAT TATALOT ST TATILONT THEATAC F T H FEFAT A7
HAE9ferdr 8 |
(4) THTATT FEATT TATALOT THEATA HT T2 FA 0l FAAAT L |
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_101_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]



10) Which of the following activities are appropriate for transacting ‘here comes a letter’ to the
students of class Ill ?

A. Read chapter on ‘communication’ and do related
exercises.

B. Ask students to collate information and then write in their
own words.

)

. Prepare students for letter-writing to their grandparents.

D. Plan a visit to the local post office to experience the
work of a postman.

(1)Aand B
(2)BandC
(3)AandD
(4)CandD

et |l & FE=nfat = v g o 20, ¥ fovar & forg, efofas 8§ 8
FA-0 FITERTT 39 E 2
A. T T U415 IS ST Fafad A fifer |
B. fE=nf2iaT =1, g=A1 FT SIEHT T ITh1 A97 =1 | o =
ferm fgeT |
C. =TIt 7 39+ ITRI-I10 T TF orge & o 947 F1e |
D. 2T ¥ FH F1 JAFT F97 5 [0 UH SAWF STHIT A Al

ATSTAT AT |

()A#TB

(2)B#TC

(3)ATD

(4) C 3T D
[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_101_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]



11) Which of the following statements are true in the context of EVS learning of children ?
A. Children are actively connected to the world around them.
B. Children coming from different backgrounds have similar contextual experiences.
C. Diversity makes the teaching-learning process challenging.

D. Diversity is an important resource in teaching-learning process.

1)A, BandC
2)A,CandD
3)B,CandD
4)A, BandD

e e

Feafofas § O F9-85 F97 T=491 & THE007 A7 H1ad % 699 § a7 g ?
A. T=9 F9F AEITE H AT H a5 =7 G2 @A 2 |

B. S-S T JUAH & AT I==A1 & AHH HI(9T AqF Bl 2 |

C. Afagar fraa-famam i gfFwar 1 Fera ! 97T 2 |

D. AfEaaT #iaa-faw ft 90T § A= J9TET E |

(1A, BT C

(2)A, C &7 D

(3)B, C @D

(4) A, B 3T D
[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_101_Q86]
. 1 [Option ID = 341]

. 2 [Option ID = 342]

1
2

3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) In order to introduce the topic ‘Birds’ to the students of class IV, which one of the following
would you prefer ?

(1) Provide models of birds along with their names to your students for them to memeorise.
(2
(3
(

4) Show a video on birds followed by digital presentation.

Ask students to write about ‘Birds’ in their own words.

Use nature walk to identify local birds, their habits and habiats.

)
)
)
)



HeEAT IV 3 Tt 1 o afemmt 9oqq Fed % 9297 °, A7 Metaiea § |
[ELRIRICET I

(1) &= FE=riat =1 qfeE % qta= I JrE0 F1 = F 97, T8 F91 5
form it |

(2) =Tt = ofert % Ao F duw ors=t | fora % for g |

(3) FATHT TfEAT, IT T AT IAE AATA-EAT AT TFEE FAA F
TR AT AT FT I S

(4) Tferdt 9= us ATSAT A7 THF TIAT] FFAET T 1670 [2ETET |

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_101_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) Vani said, “Mango tree is like an open umbrella.” Which processes have been used by Vani in
this statement ?
A. Observation
Comparison

Decision-making

OO0 w

Imagination
(1)A,BandC
(2)B, C and D
(3)A, C and D
(4)A, B and D

AT T, “HT FT U GoAT Gt oar g | 39 AT F Jroit grer G afmaret

&1 I T A g 2
A. FFAHA
B. dwHAT

e |

c. fama=
D. =F&aET

(1)A, Bd#= C

(2)B, C &7 D

(3)A, C & D

(4)A, B &= D
[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_101_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]



14) During the transaction of class lll topic on ‘Water’ students shared instances of people being
refused to drink water from common resources like wells, ponds, etc. How would you deal with
such a situation ?

A. Ask students to not get distracted and focus on the topic.

B. Ask students to not share such situations in class.

C. Ask them to share experiences and emphasise the values of
equality.

D. Ask them to share experiences and write an essay on ‘water
conservation’

(1)BandC

(2)A,BandD

(3)A, Cand D

(4) Only D

AT |l § fHoer ‘St =1 foveror g gu, E=nthmi § e g=reon At B

FSraH AR T qTAS o SATIAL S T3, AT, TATR | el q1 F g 747

[ERIRIEIR IR e e R T i e T G

A. T=TEET 1 AT § ged | T A7 [0 97 07 Fi5a F9 F 0
gl |

B. ==t &t UHT SeATaAl &1 FHeT § TqTST F9e o TA7 F997 |

C. 372 ATTAT FT ATAT FIA AT THAT o oAl T7 T 39 F 7 FZ7 |

D. I/ HAqFAT FT ATAT F77 AT Ser Heeq a7 fq=ee foraT + form w20
|

(1)B#TC

(2)A, B & D

(3)A, C &7 D

(4) =1 D
[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_101_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) Which of the following objectives is the most important for EVS subject ?

(1) Development of understanding of subject concepts
(2) Development of understanding of practical activity
(3) Development of abilities of observation, enquiry, logic and conclusion

(4) Development of ability to decide right and wrong on the basis of conscience



AT FAAT AOT 2 Meteiiad § F fid-97 3297 Aaia® A g ?

(1) AT sagToonar it a9 F FEe

(2) st wiatater i aas 1 FEm

(3) AT, BISE I, T 7 T ¥ ermara 1 s

(4) f33= % AremT UT HEl F TA H IT FE Al FHAT F HFTH

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_101_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. From the age of four, Nidhi Goyal loved to paint, and wanted to be a portrait artist. When
Nidhi was diaghosed with a degenerative eye disorder, at age 15, the loss of this dream was
the biggest blow. Articulate, chatty, and quick to laugh, this through-and-through Mumbai girl
eventually found a different creative outlet to suit her personality. A few years ago, she turned
to stand-up comedy, both as a form of self-expression and as a way to extend the advocacy
work.

2. With two visually impaired children and one sighted one, Nidhi's family developed its own
brand of humour, which treated prejudice — not disability — as something to be pitied or
mocked. “To do comedy. " Nidhi tells us, “you need to be strong enough to point to that
elephant in the room, which everyone is pretending is not there. And that's something |'ve done
since childhood.”

3. Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened. But she eventually chose a career in mass media and then transitioned to
rights-based work for people with disabilities. She had never considered comedy, beyond the
usual mainstream artists.

4. In May 2015, while chatting with activist Pramada Menon, the two of them were in splits over
some of Nidhi's insights about the way disabled people are freated. Menon insisted that Nidhi
perform too. So, Nidhi recorded instances of ignorance or prejudice that she encountered,
ranging from misconceptions about disability and sexuality, to observations about navigating
public spaces.

5. Nidhi has done stand-up in mainstream clubs, at conferences and for corporates, while
continuing with her advocacy work. On top of all this, it's almost easy to overlook her
achievement in navigating India's notoriously disability-unfriendly spaces — all the while taking
notes for future jokes of course.”It's a shame that | get so much material,” Nidhi says, laughing.
‘I mean, it's good for me..."

6. She may not have become a portrait painter, but Nidhi has succeeded in holding a mirror up
to society, challenging it's stereotypes one quip at a time.

“Nidhi’'s family developed its own brand of humour.” What was this humour based on?
(1) Disability need not be pitied.
(2) lgnorance and prejudice are to be pitied.

(3) Disability is laughable for others.

(4) India is notoriously disability-unfriendly.
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2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. From the age of four, Nidhi Goyal loved to paint, and wanted to be a portrait artist. When
Nidhi was diaghosed with a degenerative eye disorder, at age 15, the loss of this dream was
the biggest blow. Articulate, chatty, and quick to laugh, this through-and-through Mumbai girl
eventually found a different creative outlet to suit her personality. A few years ago, she turned
to stand-up comedy, both as a form of self-expression and as a way to extend the advocacy
work.

2. With two visually impaired children and one sighted one, Nidhi's family developed its own
brand of humour, which treated prejudice — not disability — as something to be pitied or
mocked. “To do comedy. " Nidhi tells us, “you need to be strong enough to point to that
elephant in the room, which everyone is pretending is not there. And that's something |'ve done
since childhood.”

3. Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened. But she eventually chose a career in mass media and then transitioned to
rights-based work for people with disabilities. She had never considered comedy, beyond the
usual mainstream artists.

4. In May 2015, while chatting with activist Pramada Menon, the two of them were in splits over
some of Nidhi's insights about the way disabled people are freated. Menon insisted that Nidhi
perform too. So, Nidhi recorded instances of ignorance or prejudice that she encountered,
ranging from misconceptions about disability and sexuality, to observations about navigating
public spaces.

5. Nidhi has done stand-up in mainstream clubs, at conferences and for corporates, while
continuing with her advocacy work. On top of all this, it's almost easy to overlook her
achievement in navigating India's notoriously disability-unfriendly spaces — all the while taking
notes for future jokes of course.”It's a shame that | get so much material,” Nidhi says, laughing.
‘I mean, it's good for me..."

6. She may not have become a portrait painter, but Nidhi has succeeded in holding a mirror up
to society, challenging it's stereotypes one quip at a time.

On the basis of the passage, pick the option that correctly classifies the facts (F) and opinions
(O) of the following statements.

Statement 1 : Nidhi has a good sense of humour.

Statement 2 : Nidhi's family developed her sense of humour.

Statement 3 : Nidhi is an activist.

Statement 4 : India is notorious for disability unfriendly spaces.

(1) F:1,2, 3 0: 4

(2) F:1, 4; 0:2,3
(3) F:1,2; 0:3,4
(4) F:1, 3; 0:2,4
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3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. From the age of four, Nidhi Goyal loved to paint, and wanted to be a portrait artist. When
Nidhi was diaghosed with a degenerative eye disorder, at age 15, the loss of this dream was
the biggest blow. Articulate, chatty, and quick to laugh, this through-and-through Mumbai girl
eventually found a different creative outlet to suit her personality. A few years ago, she turned
to stand-up comedy, both as a form of self-expression and as a way to extend the advocacy
work.

2. With two visually impaired children and one sighted one, Nidhi's family developed its own
brand of humour, which treated prejudice — not disability — as something to be pitied or
mocked. “To do comedy. " Nidhi tells us, “you need to be strong enough to point to that
elephant in the room, which everyone is pretending is not there. And that's something |'ve done
since childhood.”

3. Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened. But she eventually chose a career in mass media and then transitioned to
rights-based work for people with disabilities. She had never considered comedy, beyond the
usual mainstream artists.

4. In May 2015, while chatting with activist Pramada Menon, the two of them were in splits over
some of Nidhi's insights about the way disabled people are freated. Menon insisted that Nidhi
perform too. So, Nidhi recorded instances of ignorance or prejudice that she encountered,
ranging from misconceptions about disability and sexuality, to observations about navigating
public spaces.

5. Nidhi has done stand-up in mainstream clubs, at conferences and for corporates, while
continuing with her advocacy work. On top of all this, it's almost easy to overlook her
achievement in navigating India's notoriously disability-unfriendly spaces — all the while taking
notes for future jokes of course.”It's a shame that | get so much material,” Nidhi says, laughing.
‘I mean, it's good for me..."

6. She may not have become a portrait painter, but Nidhi has succeeded in holding a mirror up
to society, challenging it's stereotypes one quip at a time.

Pick the correct sequence of events that happened in Nidhi's life.
A. Stand-up comedy

B. Losing eyesight

C. Wanted to be a portrait artist

D. Dabbled in the performing arts in college

(1)A,B,D,C

(2)C,B,D,A

(3)B,C,D,A

4)D,C,AB

[Question ID = 93][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q93]
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4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. From the age of four, Nidhi Goyal loved to paint, and wanted to be a portrait artist. When
Nidhi was diaghosed with a degenerative eye disorder, at age 15, the loss of this dream was
the biggest blow. Articulate, chatty, and quick to laugh, this through-and-through Mumbai girl
eventually found a different creative outlet to suit her personality. A few years ago, she turned
to stand-up comedy, both as a form of self-expression and as a way to extend the advocacy
work.

2. With two visually impaired children and one sighted one, Nidhi's family developed its own
brand of humour, which treated prejudice — not disability — as something to be pitied or
mocked. “To do comedy. " Nidhi tells us, “you need to be strong enough to point to that
elephant in the room, which everyone is pretending is not there. And that's something |'ve done
since childhood.”

3. Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened. But she eventually chose a career in mass media and then transitioned to
rights-based work for people with disabilities. She had never considered comedy, beyond the
usual mainstream artists.

4. In May 2015, while chatting with activist Pramada Menon, the two of them were in splits over
some of Nidhi's insights about the way disabled people are freated. Menon insisted that Nidhi
perform too. So, Nidhi recorded instances of ignorance or prejudice that she encountered,
ranging from misconceptions about disability and sexuality, to observations about navigating
public spaces.

5. Nidhi has done stand-up in mainstream clubs, at conferences and for corporates, while
continuing with her advocacy work. On top of all this, it's almost easy to overlook her
achievement in navigating India's notoriously disability-unfriendly spaces — all the while taking
notes for future jokes of course.”It's a shame that | get so much material,” Nidhi says, laughing.
‘I mean, it's good for me..."

6. She may not have become a portrait painter, but Nidhi has succeeded in holding a mirror up
to society, challenging it's stereotypes one quip at a time.

Why does Nidhi say “It's a shame that | get so much material"?
A. India is a noterious country.

B. Prejudice against women and differently-abled still exists.
C. Lack of disability-friendly spaces.

D. Society is still not sensitive to disability.

(1) Only A

(2)AB,C

(3)B,C

4)B,C,D
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5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. From the age of four, Nidhi Goyal loved to paint, and wanted to be a portrait artist. When
Nidhi was diaghosed with a degenerative eye disorder, at age 15, the loss of this dream was
the biggest blow. Articulate, chatty, and quick to laugh, this through-and-through Mumbai girl
eventually found a different creative outlet to suit her personality. A few years ago, she turned
to stand-up comedy, both as a form of self-expression and as a way to extend the advocacy
work.

2. With two visually impaired children and one sighted one, Nidhi's family developed its own
brand of humour, which treated prejudice — not disability — as something to be pitied or
mocked. “To do comedy. " Nidhi tells us, “you need to be strong enough to point to that
elephant in the room, which everyone is pretending is not there. And that's something |'ve done
since childhood.”

3. Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened. But she eventually chose a career in mass media and then transitioned to
rights-based work for people with disabilities. She had never considered comedy, beyond the
usual mainstream artists.

4. In May 2015, while chatting with activist Pramada Menon, the two of them were in splits over
some of Nidhi's insights about the way disabled people are freated. Menon insisted that Nidhi
perform too. So, Nidhi recorded instances of ignorance or prejudice that she encountered,
ranging from misconceptions about disability and sexuality, to observations about navigating
public spaces.

5. Nidhi has done stand-up in mainstream clubs, at conferences and for corporates, while
continuing with her advocacy work. On top of all this, it's almost easy to overlook her
achievement in navigating India's notoriously disability-unfriendly spaces — all the while taking
notes for future jokes of course.”It's a shame that | get so much material,” Nidhi says, laughing.
‘I mean, it's good for me..."

6. She may not have become a portrait painter, but Nidhi has succeeded in holding a mirror up
to society, challenging it's stereotypes one quip at a time.

According to the passage, which of the following statements is not true?

(1) In Nidhi's family, there was only one child who was not differently-abled.
(2) Nidhi has left activism for stand-up comedy.
(3) Pramada Menon helped in shaping Nidhi's career as a stand-up comedian.

(4) Nidhi also had a career in mass media.

[Question ID = 95][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q95]
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6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. From the age of four, Nidhi Goyal loved to paint, and wanted to be a portrait artist. When
Nidhi was diaghosed with a degenerative eye disorder, at age 15, the loss of this dream was
the biggest blow. Articulate, chatty, and quick to laugh, this through-and-through Mumbai girl
eventually found a different creative outlet to suit her personality. A few years ago, she turned
to stand-up comedy, both as a form of self-expression and as a way to extend the advocacy
work.

2. With two visually impaired children and one sighted one, Nidhi's family developed its own
brand of humour, which treated prejudice — not disability — as something to be pitied or
mocked. “To do comedy. " Nidhi tells us, “you need to be strong enough to point to that
elephant in the room, which everyone is pretending is not there. And that's something |'ve done
since childhood.”

3. Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened. But she eventually chose a career in mass media and then transitioned to
rights-based work for people with disabilities. She had never considered comedy, beyond the
usual mainstream artists.

4. In May 2015, while chatting with activist Pramada Menon, the two of them were in splits over
some of Nidhi's insights about the way disabled people are freated. Menon insisted that Nidhi
perform too. So, Nidhi recorded instances of ignorance or prejudice that she encountered,
ranging from misconceptions about disability and sexuality, to observations about navigating
public spaces.

5. Nidhi has done stand-up in mainstream clubs, at conferences and for corporates, while
continuing with her advocacy work. On top of all this, it's almost easy to overlook her
achievement in navigating India's notoriously disability-unfriendly spaces — all the while taking
notes for future jokes of course.”It's a shame that | get so much material,” Nidhi says, laughing.
‘I mean, it's good for me..."

6. She may not have become a portrait painter, but Nidhi has succeeded in holding a mirror up
to society, challenging it's stereotypes one quip at a time.

Which of the following is the correct usage of the idiom “elephant in the room" as used in the
passage?

(1) There is an elephant in the room, run for your lives.

(2) The elephant is in the room, now nobody can enter the room.

(3) His constant need for self-validation was the elephant in the room.

(

4) Children enjoy elephant rides.
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7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. From the age of four, Nidhi Goyal loved to paint, and wanted to be a portrait artist. When
Nidhi was diaghosed with a degenerative eye disorder, at age 15, the loss of this dream was
the biggest blow. Articulate, chatty, and quick to laugh, this through-and-through Mumbai girl
eventually found a different creative outlet to suit her personality. A few years ago, she turned
to stand-up comedy, both as a form of self-expression and as a way to extend the advocacy
work.

2. With two visually impaired children and one sighted one, Nidhi's family developed its own
brand of humour, which treated prejudice — not disability — as something to be pitied or
mocked. “To do comedy " Nidhi tells us, "you need to be strong enough to point to that
elephant in the room, which everyone is pretending is not there. And that's something |'ve done
since childhood.”

3. Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened. But she eventually chose a career in mass media and then transitioned to
rights-based work for people with disabilities. She had never considered comedy, beyond the
usual mainstream artists.

4. In May 2015, while chatting with activist Pramada Menon, the two of them were in splits over
some of Nidhi's insights about the way disabled people are freated. Menon insisted that Nidhi
perform too. So, Nidhi recorded instances of ignorance or prejudice that she encountered,
ranging from misconceptions about disability and sexuality, to observations about navigating
public spaces.

5. Nidhi has done stand-up in mainstream clubs, at conferences and for corporates, while
continuing with her advocacy work. On top of all this, it's almost easy to overlook her
achievement in navigating India's notoriously disability-unfriendly spaces — all the while taking
notes for future jokes of course.”It's a shame that | get so much material,” Nidhi says, laughing.
‘I mean, it's good for me..."

6. She may not have become a portrait painter, but Nidhi has succeeded in holding a mirror up
to society, challenging it's stereotypes one quip at a time.

Find a word from para 1 which means the same as ‘eloquent’.

(1) articulate
(2) chatty
(3) creative

(4) degenerative

[Question ID = 97][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q97]
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8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. From the age of four, Nidhi Goyal loved to paint, and wanted to be a portrait artist. When
Nidhi was diaghosed with a degenerative eye disorder, at age 15, the loss of this dream was
the biggest blow. Articulate, chatty, and quick to laugh, this through-and-through Mumbai girl
eventually found a different creative outlet to suit her personality. A few years ago, she turned
to stand-up comedy, both as a form of self-expression and as a way to extend the advocacy
work.

2. With two visually impaired children and one sighted one, Nidhi's family developed its own
brand of humour, which treated prejudice — not disability — as something to be pitied or
mocked. “To do comedy. " Nidhi tells us, “you need to be strong enough to point to that
elephant in the room, which everyone is pretending is not there. And that's something |'ve done
since childhood.”

3. Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened. But she eventually chose a career in mass media and then transitioned to
rights-based work for people with disabilities. She had never considered comedy, beyond the
usual mainstream artists.

4. In May 2015, while chatting with activist Pramada Menon, the two of them were in splits over
some of Nidhi's insights about the way disabled people are freated. Menon insisted that Nidhi
perform too. So, Nidhi recorded instances of ignorance or prejudice that she encountered,
ranging from misconceptions about disability and sexuality, to observations about navigating
public spaces.

5. Nidhi has done stand-up in mainstream clubs, at conferences and for corporates, while
continuing with her advocacy work. On top of all this, it's almost easy to overlook her
achievement in navigating India's notoriously disability-unfriendly spaces — all the while taking
notes for future jokes of course.”It's a shame that | get so much material,” Nidhi says, laughing.
‘I mean, it's good for me..."

6. She may not have become a portrait painter, but Nidhi has succeeded in holding a mirror up
to society, challenging it's stereotypes one quip at a time.

The word in para 4 which is the antonym of ‘unbias’ is

(1) ignorance
(2) misconception
(3) prejudice

(4) encounter
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9) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

1. From the age of four, Nidhi Goyal loved to paint, and wanted to be a portrait artist. When
Nidhi was diaghosed with a degenerative eye disorder, at age 15, the loss of this dream was
the biggest blow. Articulate, chatty, and quick to laugh, this through-and-through Mumbai girl
eventually found a different creative outlet to suit her personality. A few years ago, she turned
to stand-up comedy, both as a form of self-expression and as a way to extend the advocacy
work.

2. With two visually impaired children and one sighted one, Nidhi's family developed its own
brand of humour, which treated prejudice — not disability — as something to be pitied or
mocked. “To do comedy. " Nidhi tells us, “you need to be strong enough to point to that
elephant in the room, which everyone is pretending is not there. And that's something |'ve done
since childhood.”

3. Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened. But she eventually chose a career in mass media and then transitioned to
rights-based work for people with disabilities. She had never considered comedy, beyond the
usual mainstream artists.

4. In May 2015, while chatting with activist Pramada Menon, the two of them were in splits over
some of Nidhi's insights about the way disabled people are freated. Menon insisted that Nidhi
perform too. So, Nidhi recorded instances of ignorance or prejudice that she encountered,
ranging from misconceptions about disability and sexuality, to observations about navigating
public spaces.

5. Nidhi has done stand-up in mainstream clubs, at conferences and for corporates, while
continuing with her advocacy work. On top of all this, it's almost easy to overlook her
achievement in navigating India's notoriously disability-unfriendly spaces — all the while taking
notes for future jokes of course.”It's a shame that | get so much material,” Nidhi says, laughing.
‘I mean, it's good for me..."

6. She may not have become a portrait painter, but Nidhi has succeeded in holding a mirror up
to society, challenging it's stereotypes one quip at a time.

Which part of speech is the underlined word in the following sentence?
Nidhi dabbled in the performing arts in college, exploring every creative endeavour as her
eyesight worsened.

(1) Adverb

(2) Preposition
(3) Noun

(4) Verb

[Question ID = 99][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q99]
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1) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
| wonder where the green grass went, ...... 1
All buried under the new cement.
| wonder where the birds have flown,
They have gone to find another home.
| wonder where the footpath’s gone,
Right underneath your car, my son...... 6
| wonder where the old folks go,
The nursing homes GB surely know.
What grows so fast before my eyes?
A garbage dump, a million flies...... 10
Is this the place you celebrate?
In prose you made it sound so great!
ltwas........before | knew it was fate.

Identify the tone of the poem.

(1) Lamenting
(2) Euphoria
(3) Authoritative

(4) Nagging

[Question ID = 100][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q100]
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2) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/ most appropriate options.
| wonder where the green grass went, ...... 1
All buried under the new cement.
| wonder where the birds have flown,
They have gone to find another home.
| wonder where the footpath’s gone,
Right underneath your car, my son...... 6
| wonder where the old folks go,
The nursing homes GB surely know.
What grows so fast before my eyes?
A garbage dump, a million flies...... 10
Is this the place you celebrate?
In prose you made it sound so great!
It was........before | knew it was fate,

Which one of the following statements is nof correct?

(1) Development comes at a cost.
(2) Nature is disturbed by men.
(3) The poet knew beforehand that the destruction was destined.

(4) Man celebrates Nature's destruction.

[Question ID = 101][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q101]
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3) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
| wonder where the green grass went, ...... 1
All buried under the new cement.
| wonder where the birds have flown,
They have gone to find another home.
| wonder where the footpath’s gone,
Right underneath your car, my son...... 6
| wonder where the old folks go,
The nursing homes GB surely know.
What grows so fast before my eyes?
A garbage dump, a million flies...... 10
Is this the place you celebrate?
In prose you made it sound so great!
ltwas........before | knew it was fate.

The rhyme scheme inlines 1 -4 is

(1) aabb

(2) abab

(3) abba

(4) abbb
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4) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
| wonder where the green grass went, ...... 1
All buried under the new cement.
| wonder where the birds have flown,
They have gone to find another home.
| wonder where the footpath’s gone,
Right underneath your car, my son...... 6
| wonder where the old folks go,
The nursing homes GB surely know.
What grows so fast before my eyes?
A garbage dump, a million flies...... 10
Is this the place you celebrate?
In prose you made it sound so great!
ltwas........before | knew it was fate.

Find the poetic device in the following line.
‘I wonder where the green grass went’

(1) Personification

(2) Oxymoron

(3) Repetition

(4) Alliteration
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5) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
| wonder where the green grass went, ...... 1
All buried under the new cement.
| wonder where the birds have flown,
They have gone to find another home.
| wonder where the footpath’s gone,
Right underneath your car, my son...... 6
| wonder where the old folks go,
The nursing homes GB surely know.
What grows so fast before my eyes?
A garbage dump, a million flies...... 10
Is this the place you celebrate?
In prose you made it sound so great!
ltwas........before | knew it was fate.

Find the word which has a similar meaning to ‘waste’.

(1) garbage
(2) flies

(3) fate

(4) cement

[Question ID = 104][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q104]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]



6) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
| wonder where the green grass went, ...... 1
All buried under the new cement.
| wonder where the birds have flown,
They have gone to find another home.
| wonder where the footpath’s gone,
Right underneath your car, my son...... 6
| wonder where the old folks go,
The nursing homes GB surely know.
What grows so fast before my eyes?
A garbage dump, a million flies...... 10
Is this the place you celebrate?
In prose you made it sound so great!
ltwas........before | knew it was fate.

What would have been the probable reason for narrowing down of footpaths?

(1) Deforestation

(2) Cities turning into garbage heaps
(3) Roadside parking

(4) Beautification of cities

[Question ID = 105][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q105]
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Topic:- ENG_Q106-120_L1_P1_CTET

1) To help students build their foundational reading skills, teachers need to help students

(1) with personalised and differentiated instructions.

(2) by giving them a standardised test to meet grade-specific outcomes.
(3) to use a variety of technology.

(4) with new and challenging vocabulary prior to reading.

[Question ID = 106][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q106]
1 [Option ID = 421]
2 [Option ID = 422]
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4 [Option ID = 424]
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2) A teacher of Class 2 is focusing on enhancing the ability to accurately and efficiently recognize
known words in printed text. These words are

(1) sight words

(2) content words
(3) difficult words
(4) passive words

[Question ID = 107][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q107]
1. 1 [Option ID = 425]



2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

3) Knowledge of more than one language

1) becomes a burden to the teacher in the language classroom

(
(2) configures the learners while learning in a new classroom
(3) is helpful in teaching and learning a new language

(

4) comes as interference in learning a new language

[Question ID = 108][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

4) A teacher asks learners of Class 4 to read through a short passage with concentration and
deeply examine it. She also scaffolds them as and when required by the leamers. She is
practising
(1) Extensive reading
(2) Intensive reading
(3) Jigsaw reading
(4) Partner reading

[Question ID = 109][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

5) The method that helps the learners to be acquainted with language easily by using a realistic
and practical situation for language teaching is called

(1) Structural Approach

(2) Situational Language Teaching
(3) Audiolingual method

(4) Bilingual method

[Question ID = 110][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

6) Pre-reading tasks are meant for

1) evaluating the reading skill of the learners.

(

(2) giving the meanings of difficult words and phrases.

(3) enabling learners to ‘enter’ into the text and motivating them.
(

4) explaining the grammatical items used in the reading text.

[Question ID = 111][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]



7) The first language acquisition consists of following stages

1) Cooing — Babbling — Holophrastic stage — Telegraphic speech — Two word stage

(

(2) Cooing — Babbling — Two word stage - Telegraphic speech - Holophrastic stage
(3) Cooing — Holophrastic stage — Babbling — Two word stage — Telegraphic speech
(

4) Cooing — Babbling — Holophrastic stage — Two word stage — Telegraphic speech

[Question ID = 112][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q112]
1 [Option ID = 445]
2 [Option ID = 446]
3 [Option ID = 447]
4 [Option ID = 448]
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8) This approach involves looking at language as a whole and concentrating on the meaning
rather than the grammatical structures and individual words.
(1) Top-down approach
(2) Bottom-up approach
(3) Eclectic approach
(4) Deductive approach
[Question ID = 113][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q113]
1 [Option ID = 449]
2 [Option ID = 450]

3 [Option ID = 451]
4 [Option ID = 452]

AW N =

9) Ateacher designs a test to find out the cause of the poor grades of his |earners through a/an

1) diagnostic test

(

(2) proficiency test
(3) achievement test
(

4) aptitude test

[Question ID = 114][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

10) A child participates actively in pairs and group work but does not get good scores in written
exams. As a teacher you can support the student by
(1) praising his social interaction.
(2) explaining to the child’s parents that he has no interest in writing.
(3) requesting parents to help himin his studies.
(4) giving him regular tests so that he can improve.
[Question ID = 115][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q115]
1 [Option ID = 457]
2 [Option ID = 458]

3 [Option ID = 459]
4 [Option ID = 460]
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11) The main character of The Jungle Book, Mogli, who was raised in isolation from human contact
had language deficits. This evidence supports which aspect of language development?

(1) The child lacked a language environment at the right age.
(2) The child was having some biological problems.

(3) He was not born with the innate ability to speak.

(4) He loved the language of animals rather than humans.

[Question ID = 116][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q116]
1. 1 [Option ID = 461]

2. 2 [Option ID = 462]

3. 3 [Option ID = 463]

4. 4 [Option ID = 464]

12) Pragmatics refers to the

1) social rules of language.

(

(2) policy of school language.

(3) instruction language of school.
(

4) academic language.

[Question ID = 117][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q117]
1. 1 [Option ID = 465]

2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

13) Which one of the following is not advocated as an element for assessment in a poem?

1) Grammar

(

(2) Vocabulary
(3) Poetic devices
(

4) Theme of the poem

[Question ID = 118][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q118]
1. 1 [Option ID = 469]

2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

14) Which method advocates the use of already acquired language skills in the mother tongue to
develop and achieve fluency and accuracy in the learning of target language?
(1) Direct method
(2) Grammar Translation method
(3) Bilingual method
(4) Audiolingual method

[Question ID = 119][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q119]
1. 1 [Option ID = 473]

2. 2 [Option ID = 474]

3. 3 [Option ID = 475]

4. 4 [Option ID = 476]



15) Which one of the following is nottrue about dysgraphia, a learning disability?

) It affects the learners’ ability to write coherently.

) It affects gross motor skills and logical thinking.

(1

(2) It hinders in organising letters, numbers, or words on papers.

(3

(4) It leads to problems with poor spelling, impaired handwriting, etc.

[Question ID = 120][Question Description = CTET_P1_PART_4_L1_SET_101_ENGLISH_Q120]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

Topic:- HIN_Q121-128_L2_P1_CTET
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[Question ID = 541][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q121]
1. 1 [Option ID = 2161]
2. 2 [Option ID = 2162]
3. 3 [Option ID = 2163]
4. 4 [Option ID = 2164]
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[Question ID = 542][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q122]
1. 1 [Option ID = 2165]
2. 2 [Option ID = 2166]
3. 3 [Option ID = 2167]
4. 4 [Option ID = 2168]
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[Question ID = 543][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q123]

1. 1 [Option ID = 2169]

2. 2 [Option ID = 2170]

3. 3 [Option ID = 2171]
4. 4 [Option ID = 2172]
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[Question ID = 544][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q124]
1. 1 [Option ID = 2173]
2. 2 [Option ID = 2174]

3. 3 [Option ID = 2175]
4. 4 [Option ID = 2176]
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[Question ID = 545][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q125]
1. 1 [Option ID = 2177]
2. 2 [Option ID = 2178]

3. 3 [Option ID = 2179]
4. 4 [Option ID = 2180]
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[Question ID = 546][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q126]
1. 1 [Option ID = 2181]
2. 2 [Option ID = 2182]
3. 3 [Option ID = 2183]
4. 4 [Option ID = 2184]
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[Question ID = 547][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q127]
1. 1 [Option ID = 2185]
2. 2 [Option ID = 2186]
3. 3 [Option ID = 2187]
4. 4 [Option ID = 2188]
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[Question ID = 548][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q128]
1. 1 [Option ID = 2189]
2. 2 [Option ID = 2190]

3. 3 [Option ID = 2191]
4. 4 [Option ID = 2192]

Topic:- HIN_Q129-135_L2_P1_CTET
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[Question ID = 549][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q129]
1. 1 [Option ID = 2193]
2. 2 [Option ID = 2194]
3. 3 [Option ID = 2195]
4. 4 [Option ID = 2196]
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[Question ID = 550][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q130]
1. 1 [Option ID = 2197]




2. 2 [Option ID = 2198]
3. 3 [Option ID = 2199]
4. 4 [Option ID = 2200]
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[Question ID = 551][Question Description = CTET_P1_PART_5_L2_SET_101_HINDI_Q131]
1. 1 [Option ID = 2201]
2. 2 [Option ID = 2202]
3. 3 [Option ID = 2203]
4. 4 [Option ID = 2204]
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